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- (iif) Relation R in the set A

. Show that the relation R in R defined as R =
- Check whether the relation R in R defined by
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Determine whether each of the following relations are reflexive, symmetric and transitive :
(?) Relation R in the setA={1,2,3, ..., 13, 14} defined as R = {(x, y) : 3 x— y = 0}
numbers defined as R={(x,y):y=x+Sand x < 4}

= {1, 2, \3’ 4,5, 6} as R={(xy: y is divisible by x}
“iv) Relation R in the set Z of all integers defined as
(v) Relation R in the set A of hu

@ R = {(x, y):

®) R = {(x, ¥) : x and y live in the same locality}
@OR={(xy):xis exactly 7 cm taller than ¥}
(d)R={(x,y):xiswifeofy} ' ' 7
(&) R = {(x, y) : x is father of y}.

(i) Relation R in the set N of natural

R ={(x, ¥) : x — y is an integer}
man beings in a town at a particular time given by.
* and y work at the same place}

Show that the relation R in the set R of real numbers, defined as

R={(a b):a< b?}, is neither reflexive nor-symmetric nor transitive,
Check whether the relation R defined in the s

. . ®{1,2,3,4,5, 6} asR = (@ b):b=¢q+ 1} is reflexive,
Symmetric or transitive,

and transitive byt not symmetric.
} is reflexive, Symmetric or trapsitjve.
(2, 1)} is Symmetric but nejther reflexive

{(@b):a< b}, is reflexive
R = {(a, b) : g < p3

Show that the relation R in the set {1, 2,3} given by R = {(1, 2),

nor transitive.

Show that the relation R in the set A of all the books jn 4 library o
R = {(x, y) : x and y have same number of pages

Show that the relation R in the set A
R={(@,b):la-blis even}, is an
to each other and all the elements of {
element of {2, 4}.

Show that the relations R in the set A =

fa college, given by

}, is an €quivalence relation

=1{1,2,3,4, 5}, given by
equivalence relatiop,

. Show that aj]
2, 4) are related tg cach other. B the elements of {1, 3, S} are related

1o element of {1, 3, S} is related to any
12}, given by
={(a,b): 4= b},

(xeZ:0<sx<
()R ={(a,b):1a-blis amultiple of 4}, (i) R

are equivalence relations. Find the set of aJ] elements related tq | in each ¢
Give examples of relations which are ase,
€)) S{/mmetric but neither reflexive nor transitive,

(ii) Transitive but neither reflexive nor Symmetric,

(iif) Reflexive and symmetric but not transitjve,

(iv) Reflexive and transitive but not symmetric,

(v) Symmetric and transitive but not reflexive,
v
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